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JIEFA S & 152,282 180,289 A28,007
NHSEAMS A 162,282 180,289 228,007
AHSEMLL 2 132,782 156,229 A23,447
UHHESE d2Fa 132,782 186,229 A23,447
NESSHel Wast 126,982 147,729 A20,747
101 IAHI 3,438 3,045 393
M JIZtHZZ2 TS 2 3,438 3,045 393
OAEIH S| SZ8H| 2R 3,438
S 104,800 x8 2 x4 3,354
S IBATEE 223
3,354,000& *2.5% 84
201 Zet2 S| 113,144 129,304 216,160
01 Al 2-2lH| 39,376 56,53 17,160
OHFNRRE 800,000+ 122! 9,600
Os=za 24E oy Y B2ES
15,000,000 » 14 15,000
ONSHS2S M HE
1,0002 %10, 0000HK 10,000
OSAIE Z208 |8
200,000+ 122 2,400
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= 198,000& * 12 2,376
02 3324l 73,768 72,768 1,000
Oz &&= 73,768
oXASEZHE DXAM L AHHE Ls(L
eh) 4302 *4,1005+ 122 21,156
oXHSSEAH NAM E HUHE 2E(S
1) 2,630&*1,7005+12& 51,612
oQHHOIAT &X &IIFHY
1,000,000 %14 1,000
202 O4b| 6,000 12,000 26,000
01 SLHoIL 6,000 12,000 £6,000
OXtX & HXE &1 SXIZA
10,0003 6 +502] 3,000
OYEZ SAHYR L SHIANSH ©
= 20,0002 x32+503] 3,000
405 THHFSH| 4,400 3,380 1,020
01 THHL ESFI=SHI 4,400 3,380 1,020
OetHEIAa HI= 4,400,000 *1CH 4,400
NESE gRFN 1,200 1,500 A300
203 BR=EH| 1,200 1,500 A300
08 AIHZ=Z G RF Y| 1,200 1,500 2300
OXNBS=E AR =X
1,200,000 14| 1,200
HEMeEd 4,600 7,000 22,400
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201 LBt=EH| 4,000 5,200 41,200
01 At=2t2[Hl 4,000 5,200 21,200
OFSH L S=o5IM DXIA oI
1,500,000 * 14 1,500
OXnelH EH-e 2,000,000 14] 2,000
OSEYEE F¥ES M
250,000 x22F A 500
202 04t 600 1,800 41,200
01 SLHOIH 600 1,800 21,200
OFISH Z2EE2 ALY
10,0003 x3& »203] 600
HH2IAH(IHHSEAILL) 19,500 24,060 24,560
Jl=2&H 19,500 24,060 £4,560
Jl=2&H] 19,500 24,060 £4,560
201 LBt=EH| 12,340 15,700 23,360
01 At222[HI 12,340 15,700 £A3,360
Oget=ZH| 5,620
cHIANFES 200,000& * 12 2,400
cHIFHHIARE 1,500,000 %14 1,500
SUEFSE 20,0002 x35+122 720
=J|Et=24| 1,000,000 %14 1,000
O=etl 6,720
=J|2gRrd =4
8,0003x 14«5« 123 6,720
202 O48| 3,600 4,800 41,200
01 SLHOIH 3,600 4,800 21,200
OJ|=g R0t 80,0002 x 15 +33] 3,600
203 BR=EHI 3,560 3,560
02 FRItAH 2= 560 560
O RE 40,0002 %1424 560
M RA2IYRETY| 3,000 3,000 0
OFMEggaxd 250,000& 12 3,000




